Name:

Class:

Multiplication

Match the answer with the question.

1.

a. 1x2 = «18
b. 8x6 = « 51

c. 14x15 = « 169
d 11x7 = «210
e. 10x5 = «2

f. 1x6 = « 165
g. 3x17 = « 50
h. 15x11 = «48
i. 13%x13 = *6

j. 1%x18 = 77
a. 11x20 = «224
b. 16 x14 = « 143
c. 10x7 = « 220
d 17x6 = «16
e. 9x12 = «18
f. 5x19 = «72
g. 9x8 = «95
h. 13x11 = «70
i. 3x6 = « 102
j. 1x16 = « 108
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Name: Class:

Multiplication

Match the answer with the question.

lla. 1x2 = 18
b. 8x6 = 51
c. 14x15 = P 169
d. 11x7 = v 210
e. 10x5 = 2
f. 1x6 = ‘V‘A 165
g 3x17 = /,A’ 50
h. 15x 11 = N 48
i. 13x13 = 6
j. 1x18 = 77

2la. 11x20 = 224
b. 16 x 14 = 143
c. 10x7 = 220
d. 17x6 = 16
e. 9x12 = 18
f 5x19 = KON, 72
g. 9x8 = N 95
h. 13x11 = 70
i. 3x6 = 102
. 1x16 = 108
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